MODEL QUESTION 12

1. Fill in the blanks with the words from the box. Make any change if necessary.

time inspire by fail recover the

at a away into greatly just
There was a) ___ king who lost his kingdom being defeated b) ___ his enemies. He wished to regain his
kingdom c)___ any cost. He made troops and made six attempts one after another to drive d)___ the
enemies. But he was defeated each time. He hid himself e) a cave. One day lyinginf)___ cave, he saw

a spider trying to climb up the roof of the cave. Butit g)___six times and succeeded by the seventh h)___.
The king was i)___ inspired by this and fought enemies for the seventh time and was successful to j)___ his
lost kingdom.
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2. Fill in the blanks with suitable words.

The (a) — way of study involves regular and proper understanding. In order to (b) — the best benefit from
study, we should read attentively and intelligently. We (c) — not study only for (d) — purpose of passing
examinations. We should take (e) — interest (f)— our studies so that we can enjoy what we learn. This will
give us knowledge and (g)— and broaden (h) — horizon of our outlook. We should, therefore, not (i) — for
immediate (j)— but for improving the wealth of our mind.

a
b
c
d
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3. Make five sentences using parts of sentences from each column of the table below.

A B C
Penicillin was sent to London by Dr. Alexander Fleming.
It is a life and attentive student .
He was never absent at the age of fourteen for higher education .
He was discovered saving medicine .
He was a very regular from school up to age of twelve .

4. Complete the following text with right form of the verbs given in the box.
become | lose | buy maintain | be* | have lay kill | get be

his family because he (b) any land for
a golden egg every day. In a few

Once there lived a poor man. He could hardly (a)
cultivation. One day he (c)

a wonderful goose. The goose (d)

months he (e) rich. But he (f) a very greedy man. He thought that there (g) many more
eggs in the belly of the goose. He wanted to (h) all the eggs at a time. So one day he (i) the
goose and cut its belly open with a knife, But alas! There was no egg! Thus the greedy farmer (j) useful
goose.
a e [
f j
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5. Rewrite the following passage in the reported speech.

Once | asked a sweet little girl, “What is your mother’s name?” She replied cleverly, “I know my mother’s

name but | won't tell you that.” | said, “What a clever girl you are!” “l don’t tell my mother’s name to
anybody whom | don’t know.” She spoke with an air of confidence.

6. Change the sentences according to directions.

a. English is not a native language. (Affirmative)

b. Without learning English, we cannot hope to get any good job. (Complex)
C The man who knows English well can go abroad. (Simple)

d. He becomes more valuable than most other people. (Positive)

e. You must learn English. (Negative)

f. Everybody knows this truth. (Passive)

g. It is more practical than most other truths. (Superlative)

h. None but the foolish can disobey this (Interrogative)

i So, let not anymore time be wasted. (Active)

j. If you study well, you will be able to learn it. (Compound)
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7. Complete the following sentences.

(a) Fault is thick where

(b) Ten years have passed since

(c) The boy talks as though

(d) While sleeping last night

(e) Unless you study hard,
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.
Traffic jam is such a kind of (a) situate where a lot of vehicles crowd so close together that (b) move becomes
(c) possible for sometimes. It is a common affair in the big cities and towns. The causes of traffic jam are
rapid (d) grow of (e) populate, (f) increase number of vehicles and narrow roads. It can be solved by well (g)
plan spacious roads, strict traffic rules and by (h) sufficiency traffic police. The drivers will be made to follow
the rules (i) compulsory. Besides, we should raise (j) conscious.

a e i
b f j
c g
d h

9. Make tag questions of these statements.

a) They is a pronoun, ?

b) The lazy will not prosper, ?

c) The unfed should be fed, ?

d) Raihan and not his brothers got the prizes, ?

e) Nobody went there, ?

10. Fill in the blanks with suitable linking words from the list.
Men usually want to have their own way. They want to think and act as they like. No one, (a) , can

have his own way all the time. A man cannot live in society peacefully (b)_ he considers the interest
of others (c) his own interest. (d) society means a group of people with the same ways of
life, people in the society may not make such decision (e) can prove unjust and harmful to others.

a C e
d

11. Rewrite the following passage and punctuate where necessary.
the traveler said can you tell me the way to the nearest inn yes said the peasant do you want one in which

you can spend the night no replied the traveler i only want a meal
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